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(cos@ + (sin6)* = cos40 +(sin4@
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- cos4@ = cos® @ = 6.cos? O sin’ 0 +sin* 6
sin 40 = 4 cos’ Osin & — 4cosfsin* 0
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z" = r"(cos @ + { sin 8)™ = r*(cosnd + i sinnd)
Proof:

z, = ry(cos 8, + isin6,)

Z; =r(cosf; + isinf;)

Z = 1y(cos Oy + Us5in )
Let 2, =23 =2y
2, = r"(cosé + isin )"
2, = r*(cosné + isin nf)
-(mso-l-!sina)(coso-l-lslna)
= cos? 6 + i cos@sin@ + i cosBsin8 + (sin* 6
= (cos @ + isin8)?
= cos 20 + isin 20
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1. arg(z;2;) = arge, + args;
Proof:
let 2, = ry(cos 6, + isin 8,)
2, = ry(cos 8; + isin6;)
2,.2; = ryra[cos 6, cos 6y — sin 8, sin6; + {(cos 8, sin 6; + cos 8, sin 8,)]
= ryry[cos(8; + 6;) + (sin(6, + 6;)]
= arg(2,22) = 6, + 6; = argz, + arga;

2. arg (;'-'l) = argz, — args;

Proof:

Z; r;(mﬂl-i-!llnﬂ,) ma"i"mo:

E = rs(cos 8; + {8in6;) cos 6y + (sin 0,)

n cos 6, cos 6, + sin 8, sin 6; + ((—cos 6, sin 6; + cos 6, sin6,)
cos20; +8in? 6; -

rn :
= %[ms(a, — 8;) + I(sin 8; cos 6, — sin 6; cos 63)]
- %[co.(a, — 8;) + {sIn(6; — 63))

& m-,ﬁ =@, - 0, = argz, —args;
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